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ECONOMICS

Paper : ECOMIN1024
( Principle of Microeconomics-I1I)
Full Marks : 70
Pass Marks : 28
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

1. Choose the correctv answer : . 1x8=8
(a) Product differentiation is a feature of
T AR &I 3|

(i) perfect competition
sf¢f efScaifaet
(i) monopoly
GO
(iii) monopolistic competition
IR afécafret
(iv) oligopoly
=% Reere!
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(b) ‘Oligopoly’ refers to
o R R i
() many sellers, few buyers
- <z Ruere! wie 79 @l
(i) many sellers, many buyers
% Rl o< 32 (ol
(iiij) few sellers, many buyers
= Repo! OiF @l oike
(iv) few sellers, few buyers
7 Rl iF 0 &

(c) Every factor of production gets reward
equal to

Tesiveg AfSTs FIICE TN TIR AW

(i) value of average product
NG Bl 01

(i) value of marginal product
A Bertw T

(iii) value of total product
6 el S

(iv) total revenue

P TeAAAT

¢4 ([VSEM-2/MIQ/ECONINION/BL 2

(d) Under perfect competition demand for
a factor is its

off effSraifer w@iag o e sifEA tatg
(i) TR-TC
(i) TRP curve
TRP I
(iii) ARP curve
ARP (S
(iv) MRP curve
" MRP @&t
(e) Under perfect competition efficient

distribution of products among
consumers occurs when

A SRS TS A1ZFT TS ANAT
wF Ao wifive w6 @fem

(i) MRTS are equal
MRTS 99

(i) MRS are equal
MRS F9iq

(iii) P=MC

(iv) P=AR
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U]

(9)

The general equilibrium analysis was
developed by

ARG SIFY REEgd 4=t @i Role
M 2

(i) Marshall

(i) Ricardo

(iiij Walras

(iv) Adam Smith

Welfare economics is primarily
concerned with

TREE SIS AR O wids 27
(i) maximizing government revenue
oI ey S 1 AR
(ii) maximizing individual revenue
- Jieere e iR = AR
(i) maximizing social welfare and
utility

TS IFq qF Tt it
IR

(iv) maximizing economic growth

wdtnfes 3 it =t A
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(h)

SR Rz B! SRR Tes f

(@)

The concept of ‘efficiency’ in welfare
economics refers to

FPTEE ALRICS TFolg LIFANHI” Trad

I

(i) maximizing the total benefit in the
economy

wRifee 3o @re iR

(i) maximizing government control
over resources

FoT @oigS 5IPRL et iR =
(iij) maximizing the role of the private
sector
Ifeare YeT ot w&ifes w1
(iv) maximizing taxes and regulation.

= g% e it 4

Answer the following questions : (any six)

2x6=12

Mention two features of monopolistic
competition that does not exist in other
forms of market.

i 2 RRIPORET T 51 (R B
4 | o IEF© ot |Amy
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(b)

@)

(e)

(9)

(h)

Point out the difference between risks
and uncertainty.

%@@wwﬁw@amwm
0

What is general equilibrium ?
AR SIEITe 2

Mention two characteristics of oligopoly
market.

% Ruros =39 757 AN S F1)
What is economic rent?

wtafos et & 2
What do you mean by liquidity

- preference ?

Oy 6w fertet [ @ ¢
Define welfare economics.
Ty o] et fia |

What is excess capacity ?

GfeRe Fe! & ¢

3. Answer the following questions: (any six)

Sx6=30

ToiY NIRRT Tes At 2 (Rireren wwn)

(q)

Show the difference between ‘rent’ and
‘Quasi rent’.

QT ST TP AT TS A Ay

et |
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(b) Explain briefly the innovation theory of
profit.
#e] T OGLo! 53T It I |

(c) Distinguish between partial and general
equilibrium.
R ST AN SIS T Lt AL
IGaiuiealll

(d) What are the factors on which real
wages depend ?
s aipe TR & [ Toimiae eoive A
IE?

(e) Distinguish between individual and
social welfare.
JRFore ST ANMET FPR TS 4/ AL
Aol =)

(0 Write the condition of Paretian
optimum.
ST Y IR TEIN ot |

(g) Write the assumptions of Pigovian
welfare economics.
Prog I T SSURIRIR it

(h) Explain briefly the kinked demand
curve theory of oligopoly.
5 Rvere! I I Sifdnl ({4 oGl 5L
G 1|
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(i) Distinguish between positive economics
and welfare economics.

7Y YRS T T GRS oAy
R=etd 1)

4. Answer the following questions : (any two)
10x2=20

©o PTAIRS e it 2 (Reetvant w5t) -

(a) Explain with the help of diagram how
price and output are determined under
monopolistic competition.

GRIRIT ST IS %e i Besiivrey
e fAwind 311 =0, o foaw s g
e

(b) Explain the Keynesian theory of
interest..

(PR I OGH! ! 31|
(c) Explain the risk bearing theory of profit.
AT HOXRT 727 TG I hall

(d) Discuss Kaldor-Hicks compensatlon
principle.

FeNeI-Re Fiosjaet AT Wit |
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